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Customary Conversions

1 foot = 12 inches

1 yard = 3 feet

1 mile = 5,280 feet
1 mile = 1,760 yards

1 cup = 8 fluid ounces
1 pint = 2 cups

1 quart = 2 pints

1 gallon = 4 quarts

1 pound = 16 ounces
1 ton = 2,000 pounds

Metric Conversions

1 meter = 100 centimeters
1 meter = 1000 millimeters
1 kilometer = 1000 meters

1 liter = 1000 milliliters

1 gram = 1000 milligrams
1 kilogram = 1000 grams

Time Conversions

1 minute = 60 seconds
1 hour = 60 minutes

1 day = 24 hours

1 year = 365 days

1 year = 52 weeks
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Formulas
- 2
x= 2 ivsﬁ, where a, b, and c are coefficients in an equation of the
a

formax> + bx +c=0

| B loga
Ogp a = log b
opposite
hypotenuse
adjacent
COS A®° = ——
hypotenuse
opposite
tan A° = L
adjacent
P(BIA) = P(A and B)

P(A or B) = P(A) + P(B) - P(A and B)

X -
zZ= Q, where 1L = mean and o = standard deviation
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Algebra 2 EOC FSA Practice Test (Calculator Portion)

The height of a coconut falling from a tree can be represented by the function

time, in seconds.

What is the initial height, in feet, of the coconut?

UL

23]
488
agg

o] ]

Date:

ID: A

K(t) = - 16t2+ 24, where k(t) is the height of the coconut, in feet, and t is

A scientist studies several
colonies of bacteria. She records
the number of cells in the colony
every hour. Several tables
containing the data are shown.

Click on the table or tables that
represent exponential growth.

Colony 1 Colony 2 Colony 3
Hours | Cells Hours | Cells Hours | Cells
0 10 0 3 0 4.0
1 25 1 12 1 4.5
2 40 2 48 2 5.0
3 55 3 192 3 5.5
Colony 4 Colony 5
Hours | Cells Hours | Cells
0 8 o | 200
1 12 1 | 100
2 18 2 50
3 27 3 25

A farmer has 160 meters of fencing to make two enclosures, one for his goats and one for his pigs. The

® 21m’><A4<22m’
1345m” <A < 1560m°

© 130m> <4 <140m’
® 5380m° <A =<6240m”

farmer plans to make a circular enclosure for his goats and a rectangular enclosure for his pigs. He plans to
use between 20 meters and 30 meters of fencing to make the pig enclosure. Based on the constraints, which

describes the possibilities for the area 4 of the goat enclosure? Round to the nearest whole number as
needed.
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ID: A

2
X

Consider the equation =2,

2x
Which values are solutions to the equation?

Select all that apply.

® -2 ® >
® -1 ® 1
© -5 ® 2

What extraneous solution arises when the equation 4/ + 3 = 2z is solved for x by first squaring both
sides of the equation?

Enter your answer in the box.

The heights of adult males in the United States are approximately normally distributed. The mean height is
70 inches (5 feet 10 inches) and the standard deviation is 3 inches.

Use the table to estimate the probability that a randomly-selected male is more than 74.5 inches tall.
Express your answer as a decimal.

x |_2.5| _2 |_1.5| 1 |_u.5| 0 | 0.5 | ] | 1.5| 2 |z.5
Area | 0.01 | 0.02 | 0.07 | 0.16 | 0.31 | 0.5 | 0.69 | 0.84 | 0.93 | 0.98 | 0.99

® 0.07 © 0.93
0.83 ® 0.5

Given the following system of equations, what number should you multiply the first equation by so that the
x-term will be eliminated when the first equation is added to the second equation?
2x-y+7z=65

3x+4y-2z=-5
xX+9y-5z=-24

3 2
> © 3
2 3
‘3 ®2
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n What is P(A and B) given that P(4) = 0.42, P(B) = 0.14, and P(4 or B) = 0.47?
@ 0.06 © 0.56
0.09 ® 0.63

Currency conversions for British pounds and U.S. dollars are shown.
o 1 British pound = 1.59 U.S. dollars
* 1 U.S. dollar = 0.99 Canadian dollar

The functions B(x) = 1.59x and C(y) = .99y represent these conversions, where x represents British pounds and y represents U.S. dollars.

Create a composite function that represents a conversion from x British pounds to y Canadian dollars.

[ 4]
[ 4]
EJ

(3]
)

]s]e] [+1-]- ][]
7Jles] <] <][=]=]~]
1 B B3 O B 0 e Eni A

On the unit circle, a central angle 6 in standard position intercepts an arc that is 2 units long. If you reflect
angle 0 across the y-axis to create a new angle a in standard position, what is the measure of o?

® 2 -2xradians © -2 radians
2 — wradians ® 2m-2 radians
If events 4 and B are independent, P(4) = 0.62, and P(B | 4) = 0.93, what is P(B)?
® 0.93 © 0.67
0.58 ® 0.41

Four cattle ranches plan to increase the size of their herds. the expressions show the predicted herd size for
each ranch after n years.

Ranch Data

Ranch Name Herd Size
Bar 2 100n + 2000
Flying T 90n + 1000
Lazy J 100n + 3000
TC 120n + 1000

Which ranch has the herd with the fastest growth rate?

® Bar2 © Lazyl
Flying T ® TC
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, | _2m* +3m — b=
What is the solution of the equation =47
m2+4m-—5
Enter your answer in the space provided. Enter only wour answer. You may not need to use all of the
answer boxes.
m =[]

|
X

|
Qi
=l
oo

If P(4) = 0.43 and P(B | 4) = 0.89, find P(4 and B).

® 0.51 © 0.11
0.48 ® 0.38
What is the axis of symmetry of the graph of f{x) = 3x” —6x+6?
® x=-1 © y=1
x=1 ® y=3

The area under the normal curve below is equal to 1 unit. Each grid square has an area of 0.01 unit.

I
0.010 L /\
0.008 |

oo \
= /// N¢

80 90 120 150 180 210 240
Rainfall (in.Ayr)

Suppose the annual rainfall in an Alaskan town is normally distributed with a mean of 150 inches per year
and a standard deviation of 36 inches per year. Use the graph to approximate the probability that the
rainfall in a given year is less than 140 inches. Express your answer as a percent.

@ 51% © 50%

61% ® 39%
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What is the distance between the points of intersection of the graphs of y = x” and y=6-x?
® 26 © 24[37
542 ® 170

0 D CIEE O

Mike's class is going on a field -
trip to the museum. The total A. Select Equations
cost of the trip includes the cost _ _
of the tickets to the museum and C=20r+10 C=10c+20
a parking fee. Each ticket costs
$10, and the parking fee is $20. -10t+C=20 20=10t-C
A. Select all the equations that B. Graph the Situation
represent this situation, c
where C is the total cost and ¢t
is the number of tickets sold. 70
B. Use the Add Arrow tool to - 60
graph this situation. @ 50
g 40
o 30
20
10
0 t
123456738910
Number of Tickets

Of 50 students going on a class trip, 35 are student athletes and 5 are left-handed. Of the student athletes, 3
are left-handed. Which is the probability that one of the students on the trip is an athlete or is left-handed?

Left-handed

® 0.2 © 0.74
0.5 ® 0.8
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The table below shows the balance b, in dollars, of Daryl’s savings account ¢ years after he made an initial

)
N

deposit. What is an explicit formula for the geometric sequence that represents this situation?

Time, t |Balance, b

(years) |(dollars)

1 $1218

2 $1236.27

3 $1254.81

4 $1273.64

® b(t)=1.015(1218)'_1 © b(H=1218+1.015(¢-1)
b(f) = 1218(1.015)" ® b(t)=1218(1.015)t_1
Which of the following always has the same value as sin 6?

® sin(0+2) © sin(6+ %)

sin( 0 + m) ® sin(0+2m)

A car decelerates such that each second it travels 5% less than the distance it traveled in the previous

second. About how far does the car travel in 5 seconds if it is traveling at 30 meters per second during the
first second of deceleration?

® 100.0 m © 1425 m
135.7 m ® 165.8 m

Sara examines two events, M and C. P(M) is % and P(M and C) is % If M and C are independent events,

what is P(C)?
1 1
® % ©3
3 5
L ® =
110 students are surveyed about their pets. The results are shown in the table. Which statement is true?
Boys |Girls Total
At least one pet 18 39 57
no pets 27 26 53
Total 45 65 110
@ 27% of the boys have no pets. © 49% of the girls have no pets.
40% of the boys have at least one pets. (© 57% of the students have at least one

pets.
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PR] Given that cosf=0.7087 and % < 0 < 2m, what is the approximate value of sin 6?

@ -0.7055 © 0.4977
-0.4977 ® 0.7055

A manufacturer finds that the life expectancy of its best-selling model of dishwashers is 11 years and the
standard deviation is 1 year. The lifespans are approximately normally-distributed. What percent of
dishwasher models will last from 9 to 13 years?

® About 47.5% © About 95%
About 68% ® About 34%
Part A
An expression is given.
z? — 8z +21

Determine the values of h and k that make the expression [z - k)z + k equivalent to the given
expression.

Enter your answers in the space provided. Enter only your answer.

B (+ |- [ x|+ | R |m®
B | >V V=0 %
o =

Part B

An equation is given.
22 —8z+21 = (z—4)’ +3z— 16

Find one value of x that is a solution to the given equation.

Use the Equation Editor. Enter ONLY your solution.

o) + - x + B [H
B v = 0| %
o -
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Events 4 and B are independent. Find the missing probability.

PA)=_2_

P(B)=0.3

P(4 and B) = 0.06

@ 0.7 © 0.2
0.24 ® 0.3

The following carryout combinations are available at Mike’s Carryout.

Combo Meal Price
One pizza (10 inches), one coke (300 milliliters), one bag of chips (200 grams) $9.00
One pizza (10 inches), two cokes (300 milliliters) $10.00
Two pizzas (10 inches), two bags of chips (200 grams) $12.00

Assume that the price of a combo meal is the same price as purchasing each item separately. Find the price
of a pizza, a coke, and a bag of chips.

@ pizza: $2, coke: $4, bag of chips: $3 © pizza: $3, coke: $2, bag of chips: $4

pizza: $2, coke: $3, bag of chips: $4 ® pizza: $4, coke: $3, bag of chips: $2

The table below shows the number of days that a meteorologist predicted it would be sunny, and the number
of days it was sunny. Based on the data in the table, what is the conditional probability that it will be sunny
on a day when the meteorologist predicts it will be sunny?

Sunny | Not Total
Sunny

Predicts 570 20 590
sunny
Does not 63 347 410
predict sun
Total 633 367 1000
@ 57% © 90%
59% ® 97%

Select all the solutions for the following system:

x° = 2y+10

3x-y=9

@ ('37 2) @ (43 3)
2, -3) ® (0,0
© 42 © (3,9
© (4,3) ® (3,3)
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Researchers randomly select 10 students who are given breakfast and 10 students who are not. Each group
takes an 80 question math test 1 hour after the students in the treatment group eat breakfast, and the
researchers record the number of questions each student answers correctly. The data are shown in the table.
Resampling the data finds that 95% of the differences of the means for the reconfigured treatment and
control groups are less than 5.2. (Note that resampling involves randomly scrambling the data from the
treatment and control groups and calculating a difference of means for the reconfigured groups: treatment
group mean minus control group mean. Each new difference obtained from a resampling becomes part of a
resampling distribution.) Is there evidence that eating breakfast increases performance on the math test?

Number of correct questions

Breakfast No breakfast
56 58

62 54

68 62

73 48

56 68

57 65

49 60

72 72

62 52

57 45

(® Yes; the difference of the means from

the experiment is greater than 5.2.

Yes; the difference of the means from
the experiment is less than 5.2.

No; the difference of the means from
the experiment is greater than 5.2.

No; the difference of the means from
the experiment is less than 5.2.

Annie volunteers in the tutoring center at her school. The table shows how much time she spends in the
tutoring center each week for six weeks.

Volunteer Hours

Week | Time (minutes)

190

140

105

95

85

85

Which function best fits the data?

@ y=-40x+220
y=-20x+186=

© y=195.5(0.852)"
® y=257.9(0.737)"
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52% of the visitors to a museum purchase tickets to the planetarium. 24% of the visitors to a museum buy

tickets for both the planetarium and the 3D theater. About what percent of visitors who buy tickets for the
planetarium also buy tickets for the 3D theater?

® 28% © 54%
46% ® 52%
An expression is shown.

5x’+2x+4+1=0

What is one possible solution to this quadratic equation?

(€)= (@)

1213+ \ ) ‘,|

Jslls < 5= ]]

7)8]9] 8] 0°) O[] ~O %D ]
0 -

An arc on the unit circle is % units long.

What is the degree measure of the arc’s central angle?
® 60° © 240°
120° ® 300°

A geneticist is studying a population of fruit flies. Of the 1278 flies, 467 are wingless and 446 have red eyes.

There are 210 flies that are wingless whose eyes are not red. What is the approximate probability that a fly
is wingless or has red eyes?

® 0.49 © 0.71
0.51 ® 0.88

10
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An equation is shown.
(x+13)2=10

What is the solution to the equation?

L= ][ ][~ ][®)

o[~ [~ ][=][1)
|1|
|é|

L le]l=]l=]()

Given the following probabilities:

P(A) = 0.5
P(B) = 0.3
P(C) = 0.4
P(D) = 0.7

P(A and B) = 0.8
P(B and C) =0.75
P(C and D) = 0.28
P(A and D) = 0.2

Which 2 events are independent?

® AandB © BandC
A and D ® CandD

Chocos is a dish made from wheat, sugar, and cocoa. Bertha is making a large pot of chocos for a party.

Wheat (w) costs 85 per pound, sugar (s) costs $3 per pound, and cocoa (c) costs $4 per pound. She spends
848 on 12 pounds of food. She buys twice as much cocoa as sugar.

How much wheat, sugar, and cocoa will she use (in pounds) in her dish?
(® wheat: 6 1b, sugar: 3 b, cocoa: 3 1b (© wheat: 3 Ib, sugar: 6 Ib, cocoa: 3 lb
wheat: 3 1b, sugar: 3 b, cocoa: 6 b (® wheat: 6 b, sugar: 2 b, cocoa: 4 1b
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Name:

ID: A

Zachary is studying the behavior of a group of cells in a lab. He starts with 500 cells and observes that the
cell population triples every hour. The function shown models the number of cells after ¢ hours.

A1) =500(3)"

Which equation can be used to determine how many hours it will take for the cell population o reach
50,0007

@ log,,,3 =t © log, 100 =¢
log,500 = ¢ ® log, 5,,50,000 =¢

Becky throws a ball into the air. The height of the ball in feet, F(t), after ¢ seconds can be modeled by the function shown.

f(t) = -16t>+ 40t + 6

What is the height of the ball, in feet, 2 seconds after Becky throws it?

(4)

nop
non
o)

| ¥)
)
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Name:

43

Rebecca records the amount of money, f(x), in her bank account each month, x, as shown in the table.

Bank Account
Month (x) Amounrt_( :; Money
0 $6
1 £12
2 £24
3 $48
4 $96

Create a function that models this relationship.

'\"'/' '\"'/‘ '\"J '\»J '\q /

[1]l2][3] [xJmo

5o )]+

7]le] 9] [<]s]= 2]

o)LL) B ofuo e w]

An equation is shown.
3x°+14x =5

Re-create the equation in an equivalent factored form to reveal the zeros.

f’i‘\l
Ny
N
Ry

IE@ IDEE
7)le o) [<]l=]l=][=]>]
o B o]~ e« ]

- fﬂ

. I(-l\l
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Name: ID: A

@ pooPoii_ o=

A polynomial is shown.
y=4x>-12x* - 4x + 12 41

Use the Add Point tool to show 34
the locations of all zeros of this
polynomial.

A mass is suspended from a spring. When the mass is displaced vertically from its resting position and
released, the displacement of the mass relative to its resting position is periodic. If the mass is raised 2 inches
from its resting position and released, which function could model the displacement d, in inches, of the mass
t seconds after being released? (Assume that the displacement above the resting position is positive and the
displacement below the resting position is negative.)

@ d(H)=2sint © d()=-2sint
d(t) =2 cos t ® d(f) =-2cost
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